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QUESTION 1

What is the role of the cloud service creator?

A. It can be a consumer of multiple cloud services for their own use.

B. It consumes other cloud services by leveraging and enhancing functionality exposed by the cloud service provider.
C. It is the individual, organization, or system which consumes service instances delivered by a particular cloud service.

D. It is responsible for the design, testing, implementation, and maintenance of management artifacts specific to a cloud
service.

Correct Answer: D

QUESTION 2

In an ITIL managed cloudenvironment, which twoservice transition processes are involved when thememory of a virtual
machine is increased?

A. Event Management

B. Change Management

C. Release Management

D. Capacity Management

E. Configuration Management

Correct Answer: AE

QUESTION 3

Which option describes a service managed by a cloud operator that supports databases without assuming traditional
administration functions?

A. SQL as a Service
B. Database as a Service
C. PlatformDB as a Service D. Infrastructure as a Service

Correct Answer: A

QUESTION 4

What is required to implementthe Efficiency principle of the IBM Cloud Computing ReferenceArchitecture V4?



A. A very high degree of standardization to enable high degrees of automation.

B. Hosting of the cloud management platform and the cloud services in green data centers.

C. A shortest path strategy for optimal cloud service placement in multi-site cloud environments

D. Optimization of the cloud service response times and computing resources allocated by the services.

Correct Answer: D

QUESTION 5

Which set of IBM components andsubcomponents (as part of use casesin the IBM Cloud ComputingReference
Architecture Cloud EnabledData Center (CeDC) adoption pattern)can be integrated in orderto provision network and
virtual systems to the CeDC?

A. IBM SoftLayer IMS

B. IBM Cloud Orchestrator, IBM Tivoli Netcool Configuration Manager

C. IBM SmartCloud Provisioning, IBM SmartCloud Control Desk, IBM Endpoint Manager

D. IBM Endpoint Manager, IBM Tivoli Storage Manager, and IBM SmartCloud Control Desk

Correct Answer: B

QUESTION 6
Which statement is true regarding a private cloud?

A. It is owned and operated for use by a single company that controls the virtualized resources and automated
services.

B. It is provided by a distributed set of machines that are running at different locations while still connected to a single
network.

C. Private cloud service providers own and operate the infrastructure at their data center and usually offer access only
via the Internet.

D. It is composed of two or more clouds that remain distinct entities but are bound together and offer the benefits of
multiple deployment models.

Correct Answer: A

QUESTION 7
Which statement is true about public cloud architectures?
A. They typically leverage Internet-accessible on demand services.

B. They utilize system administrators to deliver requested services.



C. Public cloud computing architectures are ideal for heavily regulated workloads.
D. The main function of a public cloud computing architecture is privately owned data centers

Correct Answer: D

QUESTION 8

The integration process in the IBMCloud Computing Reference Architecture relies heavily on whichoption?
A. CloudStack

B. Virtualization

C. Cloud Foundry

D. silos of computing

Correct Answer: B

QUESTION 9

What is normally required for a cloud service provider solution but may not be required for a private cloud solution?
A. Multi-tenancy support

B. Cloud bursting capability

C. Platform as a Service capability

D. Application pattern deployment support

Correct Answer: D

QUESTION 10

Which cloud attribute describes the ability to quickly adapt to high volatility in the amount of requests?
A. Elasticity

B. High Availability

C. Service Delivery

D. Service Level Agreement Compliance

Correct Answer: D

QUESTION 11



What is an example of a Software as a Service offering?
A. Softlayer

B. Rackspace

C. IBM Bluemix

D. Salesforce.com

Correct Answer: A

QUESTION 12

What can process standardization reduce?
A. hardware costs

B. number of images

C. image cloning time

D. manual Interactions

Correct Answer: D
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